SSC MTS Exam - MCQs Practice

1. General Intelligence & Reasoning
Q1. Which of the following is the next number in the series: 2, 6, 12, 20, 30, __?

a) 36
b) 42
c) 40
d) 48

Q2.If 'TABLE' is coded as 'UCFMD', how would 'CHAIR' be coded?

a) DIBJS
b) DJBIS
¢) DIBJR
d) DIBJQ

Q3. In a family of six members, P is the father of Q. R is the brother of P. S is the daughter of
Q. How is R related to S?

a) Uncle

b) Father

¢) Grandfather
d) Brother

2. Numerical Aptitude (Mathematics)
Q4. What is the average of the first 50 even numbers?

a) 49
b) 50
c) 51
d) 52

Q5. A man buys 20 apples for Rs. 100 and sells them at Rs. 6 each. What is his profit
percent?

a) 15%
b) 20%
c) 25%
d) 30%

Q6. A train travels at 60 km/h for 3 hours and then at 80 km/h for 2 hours. What is the
average speed of the train for the entire trip?



a) 72 km/h
b) 70 km/h
c) 75 km/h
d) 77 km/h

3. General English
Q7. Choose the word which is most similar in meaning to '"ABUNDANT".

a) Sparse

b) Rare

c) Plentiful

d) Diminished

Q8. Choose the correct synonym for the word 'ELOQUENT".

a) Vague
b) Powerful
c) Articulate
d) Weak

QO. Identify the error in the following sentence: 'He don’t like to play football.'

a) He

b) Don’t

c) Like

d) Football

4. General Awareness
Q10. Who is the current President of India?

a) Pranab Mukherijee
b) Ram Nath Kovind

c) Narendra Modi

d) Droupadi Murmu

Q11. What is the capital city of Australia?

a) Sydney

b) Melbourne
c) Canberra
d) Brisbane

Q12. In which year did India gain independence?

a) 1946



b) 1947
c) 1948
d) 1950

Question No. Answer

Q1 b) 42

Q2 a) DIBJS

Q3 a) Uncle

Q4 b) 50

Q5 c) 25%

Q6 a) 72 km/h
Q7 c) Plentiful
Q8 c) Articulate
Q9 b) Don’t
Q10 d) Droupadi Murmu
Q11 c) Canberra
Q12 b) 1947
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